

**Turkish Journal of Mathematics** 

http://journals.tubitak.gov.tr/math/

**Research Article** 

# Coefficient estimates for general subclasses of m-fold symmetric analytic bi-univalent functions

Serap BULUT\*

Faculty of Aviation and Space Sciences, Kocaeli University, Arslanbey Campus, Kartepe, Kocaeli, Turkey

Received: 12.11.2015	•	Accepted/Published Online: 26.02.2016	•	<b>Final Version:</b> 02.12.2016
----------------------	---	---------------------------------------	---	----------------------------------

**Abstract:** In this work, we introduce and investigate two new subclasses of the bi-univalent functions in which both f and  $f^{-1}$  are *m*-fold symmetric analytic functions. For functions in each of the subclasses introduced in this paper, we obtain the coefficient bounds for  $|a_{m+1}|$  and  $|a_{2m+1}|$ .

 ${\bf Key \ words:} \ {\rm Analytic \ functions, \ univalent \ functions, \ bi-univalent \ functions, \ m-fold \ symmetric \ bi-univalent \ functions \ symmetric \ bi-univalent \ functions \ m-fold \ symmetric \ bi-univalent \ functions \ m-fold \ symmetric \ bi-univalent \ functions \ m-fold \ symmetric \ bi-univalent \ functions \ symmetric \ bi-univalent \ symmetric \ bi-univalent \ symmetric \ bi-univalent \ symmetric \ sym$ 

## 1. Introduction

Let  $\mathcal{A}$  denote the class of all functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$
(1)

which are analytic in the open unit disk

 $\mathbb{U} = \{ z : z \in \mathbb{C} \quad \text{and} \quad |z| < 1 \}.$ 

We also denote by S the class of all functions in the normalized analytic function class A that are univalent in  $\mathbb{U}$ .

It is well known that every function  $f \in S$  has an inverse  $f^{-1}$ , which is defined by

$$f^{-1}(f(z)) = z \qquad (z \in \mathbb{U})$$

and

$$f(f^{-1}(w)) = w$$
  $(|w| < r_0(f); r_0(f) \ge \frac{1}{4}).$ 

The inverse function  $g = f^{-1}$  is given by

$$g(w) = f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2a_3 + a_4) w^4 + \cdots$$
(2)

A function  $f \in \mathcal{A}$  is said to be bi-univalent in  $\mathbb{U}$  if both f and  $f^{-1}$  are univalent in  $\mathbb{U}$ . Let  $\Sigma$  denote the class of bi-univalent functions in  $\mathbb{U}$  given by (1). The class of analytic bi-univalent functions was first

<sup>\*</sup>Correspondence: serap.bulut@kocaeli.edu.tr

<sup>2010</sup> AMS Mathematics Subject Classification: 30C45, 30C50.

introduced and studied by Lewin [16], where it was proved that  $|a_2| < 1.51$ . Brannan and Clunie [2] improved Lewin's result to  $|a_2| \leq \sqrt{2}$  and later Netanyahu [18] proved that  $|a_2| \leq 4/3$ . Brannan and Taha [3] and Taha [24] also investigated certain subclasses of bi-univalent functions and found nonsharp estimates on the first two Taylor–Maclaurin coefficients  $|a_2|$  and  $|a_3|$ . For a brief history and interesting examples of functions in the class  $\Sigma$ , see [21] (see also [3]). The aforecited work of Srivastava et al. [21] essentially revived the investigation of various subclasses of the bi-univalent function class  $\Sigma$  in recent years; it was followed by such works as those by Frasin and Aouf [12], Xu et al. [25, 26], Hayami and Owa [15], and others (see, for example, [1, 4–10, 13, 17, 19, 20]).

Let  $m \in \mathbb{N} = \{1, 2, 3, ...\}$ . A domain E is said to be m-fold symmetric if a rotation of E about the origin through an angle  $2\pi/m$  carries E on itself. It follows that a function f(z) analytic in  $\mathbb{U}$  is said to be m-fold symmetric ( $m \in \mathbb{N}$ ) if

$$f\left(e^{2\pi i/m}z\right) = e^{2\pi i/m}f\left(z\right)$$

In particular, every f(z) is 1-fold symmetric and every odd f(z) is 2-fold symmetric. We denote by  $S_m$  the class of *m*-fold symmetric univalent functions in  $\mathbb{U}$ .

A simple argument shows that  $f \in \mathcal{S}_m$  is characterized by having a power series of the form

$$f(z) = z + \sum_{k=1}^{\infty} a_{mk+1} z^{mk+1} \qquad (z \in \mathbb{U}, \ m \in \mathbb{N}).$$
(3)

Srivastava et al. [22] defined *m*-fold symmetric bi-univalent functions, analogues to the concept of *m*-fold symmetric univalent functions. For the normalized form of f given by (3), they obtained the series expansion for  $f^{-1}$  as follows:

$$g(w) = f^{-1}(w) = w - a_{m+1}w^{m+1} + \left[(m+1)a_{m+1}^2 - a_{2m+1}\right]w^{2m+1} \\ - \left[\frac{1}{2}(m+1)(3m+2)a_{m+1}^3 - (3m+2)a_{m+1}a_{2m+1} + a_{3m+1}\right]w^{3m+1} + \cdots$$
(4)

We denote by  $\Sigma_m$  the class of *m*-fold symmetric bi-univalent functions in U. For m = 1, the formula (4) coincides with the formula (2) of the class  $\Sigma$ . For some examples of *m*-fold symmetric bi-univalent functions, see [22].

The object of the present paper is to introduce two new general subclasses of bi-univalent functions in which both f and  $f^{-1}$  are m-fold symmetric analytic functions and to obtain coefficient bounds for  $|a_{m+1}|$  and  $|a_{2m+1}|$  for functions in each of these new subclasses.

In order to establish our main results, we shall require the following lemma.

**Lemma 1** [11] If  $p \in \mathcal{P}$ , then  $|c_k| \leq 2$   $(k \in \mathbb{N})$ , where the Carathéodary class  $\mathcal{P}$  is the family of all functions p analytic in  $\mathbb{U}$  for which

$$\Re(p(z)) > 0, \quad p(z) = 1 + c_1 z + c_2 z^2 + \cdots \qquad (z \in \mathbb{U}).$$

# 2. Coefficient estimates for the function class $\mathcal{N}^{\mu}_{\Sigma,m}(\alpha,\lambda)$

**Definition 2** For  $\lambda \geq 1$  and  $\mu \geq 0$ , a function  $f \in \Sigma_m$  given by (3) is said to be in the class  $\mathcal{N}^{\mu}_{\Sigma,m}(\alpha,\lambda)$  if the following conditions are satisfied:

$$\left|\arg\left(\left(1-\lambda\right)\left(\frac{f\left(z\right)}{z}\right)^{\mu}+\lambda f'\left(z\right)\left(\frac{f\left(z\right)}{z}\right)^{\mu-1}\right)\right|<\frac{\alpha\pi}{2}$$
(5)

and

$$\left|\arg\left((1-\lambda)\left(\frac{g\left(w\right)}{w}\right)^{\mu}+\lambda g'\left(w\right)\left(\frac{g\left(w\right)}{w}\right)^{\mu-1}\right)\right|<\frac{\alpha\pi}{2}$$
(6)

where  $0 < \alpha \leq 1$ ;  $m \in \mathbb{N}$ ;  $z, w \in \mathbb{U}$ ; and  $g = f^{-1}$  is defined by (4).

**Remark 3** In the following special cases of Definition 2, we show how the class of analytic bi-univalent functions  $\mathcal{N}^{\mu}_{\Sigma,m}(\alpha,\lambda)$  for suitable choices of  $\lambda$ ,  $\mu$ , and m lead to certain new as well as known classes of analytic bi-univalent functions studied earlier in the literature.

(i) For  $\mu = 1$ , we obtain the *m*-fold symmetric bi-univalent function class

$$\mathcal{N}_{\Sigma,m}^{1}\left(\alpha,\lambda\right) = \mathcal{A}_{\Sigma,m}^{\alpha,\lambda}$$

introduced by Sümer Eker [23]. In addition, for m = 1 we have the bi-univalent function class

$$\mathcal{N}_{\Sigma,1}^{1}\left(\alpha,\lambda\right) = \mathcal{B}_{\Sigma}\left(\alpha,\lambda\right)$$

introduced by Frasin and Aouf [12].

(ii) For  $\mu = 1$  and  $\lambda = 1$ , we have the *m*-fold symmetric bi-univalent function class

$$\mathcal{N}_{\Sigma,m}^{1}\left(\alpha,1\right)=\mathcal{H}_{\Sigma,m}^{\alpha}$$

introduced by Srivastava et al. [22]. In addition, for m = 1 we have the bi-univalent function class

$$\mathcal{N}_{\Sigma,1}^1\left(\alpha,1\right) = \mathcal{H}_{\Sigma}^{\alpha}$$

introduced by Srivastava et al. [21].

(iii) For  $\mu = 0$  and  $\lambda = 1$ , we get a new class

$$\mathcal{N}_{\Sigma,m}^{0}\left(\alpha,1\right) = \mathcal{S}_{\Sigma,m}^{\alpha}$$

of m-fold symmetric strongly bi-starlike functions of order  $\alpha$ . In addition, for m = 1 we have the strongly bi-starlike function class

$$\mathcal{N}_{\Sigma,1}^{0}\left(\alpha,1\right) = \mathcal{S}_{\Sigma}^{*}\left[\alpha\right]$$

introduced by Brannan and Taha [3]. (iv) For  $\lambda = 1$ , we have a new class

$$\mathcal{N}_{\Sigma,m}^{\mu}\left(\alpha,1\right)=\mathcal{P}_{\Sigma,m}\left(\alpha,\mu\right),$$

which consists of m-fold symmetric bi-Bazilevič functions.

 $(\mathbf{v})$  For m = 1, we have the bi-univalent function class

$$\mathcal{N}_{\Sigma,1}^{\mu}\left(\alpha,\lambda\right) = \mathcal{N}_{\Sigma}^{\mu}\left(\alpha,\lambda\right)$$

introduced by Çağlar et al. [8].

**Theorem 4** Let the function f(z) given by (3) be in the class  $\mathcal{N}^{\mu}_{\Sigma,m}(\alpha,\lambda)$ . Then

$$|a_{m+1}| \leq \begin{cases} \frac{2\alpha}{\sqrt{(\mu+m\lambda)^2 + m\alpha(\mu+2m\lambda-m\lambda^2)}} &, \quad 1 \leq \lambda < 1 + \sqrt{\frac{\mu+m}{m}} \\ \frac{2\alpha}{\mu+m\lambda} &, \quad \lambda \geq 1 + \sqrt{\frac{\mu+m}{m}} \end{cases}$$
(7)

and

$$|a_{2m+1}| \le \frac{2(m+1)\alpha^2}{(\mu+m\lambda)^2} + \frac{2\alpha}{\mu+2m\lambda}.$$
(8)

**Proof** It follows from (5) and (6) that

$$(1-\lambda)\left(\frac{f(z)}{z}\right)^{\mu} + \lambda f'(z)\left(\frac{f(z)}{z}\right)^{\mu-1} = \left[p(z)\right]^{\alpha}$$
(9)

and

$$(1-\lambda)\left(\frac{g(w)}{w}\right)^{\mu} + \lambda g'(w)\left(\frac{g(w)}{w}\right)^{\mu-1} = \left[q(w)\right]^{\alpha},\tag{10}$$

where

$$p(z) = 1 + p_m z^m + p_{2m} z^{2m} + p_{3m} z^{3m} + \dots \in \mathcal{P}$$
(11)

and

$$q(w) = 1 + q_m w^m + q_{2m} w^{2m} + q_{3m} w^{3m} + \dots \in \mathcal{P}.$$
 (12)

Now, equating the coefficients in (9) and (10), we have

$$(\mu + m\lambda) a_{m+1} = \alpha p_m \tag{13}$$

$$(\mu + 2m\lambda) \left[ \frac{\mu - 1}{2} a_{m+1}^2 + a_{2m+1} \right] = \alpha p_{2m} + \frac{\alpha \left(\alpha - 1\right)}{2} p_m^2 \tag{14}$$

$$-(\mu + m\lambda)a_{m+1} = \alpha q_m \tag{15}$$

$$(\mu + 2m\lambda) \left[ \left( m + \frac{\mu + 1}{2} \right) a_{m+1}^2 - a_{2m+1} \right] = \alpha q_{2m} + \frac{\alpha (\alpha - 1)}{2} q_m^2.$$
(16)

From (13) and (15), we obtain

$$p_m = -q_m \tag{17}$$

and

$$2(\mu + m\lambda)^2 a_{m+1}^2 = \alpha^2 \left( p_m^2 + q_m^2 \right).$$
(18)

Also, from (14), (16), and (18), we find that

$$a_{m+1}^{2} = \frac{\alpha^{2} \left( p_{2m} + q_{2m} \right)}{\left( \mu + m\lambda \right)^{2} + m\alpha \left( \mu + 2m\lambda - m\lambda^{2} \right)}.$$
(19)

Applying Lemma 1 for (13) and (19), we get the desired estimate on the coefficient  $|a_{m+1}|$  as asserted in (7).

Next, in order to find the bound on the coefficient  $|a_{2m+1}|$ , we subtract (16) from (14). Observing (17) we get

$$a_{2m+1} = \frac{m+1}{2}a_{m+1}^2 + \frac{\alpha \left(p_{2m} - q_{2m}\right)}{2\left(\mu + 2m\lambda\right)}.$$
(20)

It follows from (13) and (20) that

$$a_{2m+1} = \frac{(m+1)\,\alpha^2 p_m^2}{2\,(\mu+m\lambda)^2} + \frac{\alpha\,(p_{2m}-q_{2m})}{2\,(\mu+2m\lambda)}.$$
(21)

Applying Lemma 1 for (21), we get the desired estimate on the coefficient  $|a_{2m+1}|$  as asserted in (8). This completes the proof of Theorem 4.

By setting  $\mu = 1$  in Theorem 4, we obtain the following consequence.

**Corollary 5** Let the function f(z) given by (3) be in the class  $\mathcal{A}_{\Sigma,m}^{\alpha,\lambda}$ . Then

$$|a_{m+1}| \leq \begin{cases} \frac{2\alpha}{\sqrt{(1+m\lambda)^2 + m\alpha(1+2m\lambda - m\lambda^2)}} & , \quad 1 \leq \lambda < 1 + \sqrt{\frac{m+1}{m}} \\ \frac{2\alpha}{1+m\lambda} & , \quad \lambda \geq 1 + \sqrt{\frac{m+1}{m}} \end{cases}$$
(22)

and

$$|a_{2m+1}| \le \frac{2(m+1)\alpha^2}{(1+m\lambda)^2} + \frac{2\alpha}{1+2m\lambda}.$$

**Remark 6** The above estimates for  $|a_{m+1}|$  show that the inequality (22) is an improvement of the estimates obtained by Sümer Eker [23].

**Corollary 7** (see [23]) Let the function f(z) given by (3) be in the class  $\mathcal{A}_{\Sigma,m}^{\alpha,\lambda}$ . Then

$$|a_{m+1}| \le \frac{2\alpha}{\sqrt{\left(1+m\lambda\right)^2 + m\alpha\left(1+2m\lambda - m\lambda^2\right)}}$$

and

$$|a_{2m+1}| \le \frac{2(m+1)\alpha^2}{(1+m\lambda)^2} + \frac{2\alpha}{1+2m\lambda}$$

By setting  $\mu = 1$  and  $\lambda = 1$  in Theorem 4, we obtain the following consequence.

**Corollary 8** (see [22]) Let the function f(z) given by (3) be in the class  $\mathcal{H}^{\alpha}_{\Sigma,m}$ . Then

$$|a_{m+1}| \le \frac{2\alpha}{\sqrt{(1+m)\left(1+m+m\alpha\right)}}$$

and

$$|a_{2m+1}| \le \frac{2\alpha^2}{1+m} + \frac{2\alpha}{1+2m}$$

By setting  $\mu = 0$  and  $\lambda = 1$  in Theorem 4, we obtain the following consequence.

**Corollary 9** Let the function f(z) given by (3) be in the class  $\mathcal{S}_{\Sigma,m}^{\alpha}$ . Then

$$|a_{m+1}| \le \frac{2\alpha}{m\sqrt{1+\alpha}}$$

and

$$|a_{2m+1}| \le \frac{2(m+1)\alpha^2}{m^2} + \frac{\alpha}{m}$$

By setting  $\lambda = 1$  in Theorem 4, we obtain the following consequence.

**Corollary 10** Let the function f(z) given by (3) be in the class  $\mathcal{P}_{\Sigma,m}(\alpha,\mu)$ . Then

$$|a_{m+1}| \le \frac{2\alpha}{\sqrt{\left(\mu + m\right)^2 + m\alpha\left(\mu + m\right)}}$$

and

$$|a_{2m+1}| \le \frac{2(m+1)\alpha^2}{(\mu+m)^2} + \frac{2\alpha}{\mu+2m}.$$

By setting m = 1 in Theorem 4, we obtain the following consequence.

**Corollary 11** Let the function f(z) given by (3) be in the class  $\mathcal{N}^{\mu}_{\Sigma}(\alpha, \lambda)$ . Then

$$|a_2| \leq \begin{cases} \frac{2\alpha}{\sqrt{(\mu+\lambda)^2 + \alpha(\mu+2\lambda-\lambda^2)}} &, \quad 1 \leq \lambda < 1 + \sqrt{\mu+1} \\ \frac{2\alpha}{\mu+\lambda} &, \quad \lambda \geq 1 + \sqrt{\mu+1} \end{cases}$$
(23)

and

$$|a_3| \le \frac{4\alpha^2}{\left(\mu + \lambda\right)^2} + \frac{2\alpha}{\mu + 2\lambda}.$$

**Remark 12** The above estimates for  $|a_2|$  show that the inequality (23) is an improvement of the estimates obtained by *Çağlar* et al. [8].

# **3.** Coefficient estimates for the function class $\mathcal{N}^{\mu}_{\Sigma,m}\left(\beta,\lambda\right)$

**Definition 13** For  $\lambda \geq 1$  and  $\mu \geq 0$ , a function  $f \in \Sigma_m$  given by (3) is said to be in the class  $\mathcal{N}^{\mu}_{\Sigma,m}(\beta,\lambda)$  if the following conditions are satisfied:

$$\Re\left(\left(1-\lambda\right)\left(\frac{f\left(z\right)}{z}\right)^{\mu}+\lambda f'\left(z\right)\left(\frac{f\left(z\right)}{z}\right)^{\mu-1}\right)>\beta$$
(24)

and

$$\Re\left(\left(1-\lambda\right)\left(\frac{g\left(w\right)}{w}\right)^{\mu}+\lambda g'\left(w\right)\left(\frac{g\left(w\right)}{w}\right)^{\mu-1}\right)>\beta$$
(25)

where  $0 \leq \beta < 1$ ;  $m \in \mathbb{N}$ ;  $z, w \in \mathbb{U}$ ; and  $g = f^{-1}$  is defined by (4).

**Remark 14** In the following special cases of Definition 13, we show how the class of analytic bi-univalent functions  $\mathcal{N}^{\mu}_{\Sigma,m}(\beta,\lambda)$  for suitable choices of  $\lambda$ ,  $\mu$ , and m lead to certain new as well as known classes of analytic bi-univalent functions studied earlier in the literature.

(i) For  $\mu = 1$ , we obtain the *m*-fold symmetric bi-univalent function class

$$\mathcal{N}_{\Sigma,m}^{1}\left(\beta,\lambda\right) = \mathcal{A}_{\Sigma,m}^{\lambda}\left(\beta\right)$$

introduced by Sümer Eker [23]. In addition, for m = 1 we have the bi-univalent function class

$$\mathcal{N}_{\Sigma,1}^{1}\left(\beta,\lambda\right) = \mathcal{B}_{\Sigma}\left(\beta,\lambda\right)$$

introduced by Frasin and Aouf [12].

(ii) For  $\mu = 1$  and  $\lambda = 1$ , we have the *m*-fold symmetric bi-univalent function class

$$\mathcal{N}_{\Sigma,m}^{1}\left(\beta,1\right) = \mathcal{H}_{\Sigma,m}\left(\beta\right)$$

introduced by Srivastava et al. [22]. In addition, for m = 1 we have the bi-univalent function class

$$\mathcal{N}_{\Sigma,1}^{1}\left(\beta,1\right) = \mathcal{H}_{\Sigma}\left(\beta\right)$$

introduced by Srivastava et al. [21].

(iii) For  $\mu = 0$  and  $\lambda = 1$ , we get the class

 $\mathcal{N}_{\Sigma,m}^{0}\left(\beta,1\right)$ 

of m-fold symmetric bi-starlike functions of order  $\beta$  (see [14]). In addition, for m = 1 we have the bi-starlike function class

$$\mathcal{N}_{\Sigma,1}^{0}\left(\beta,1\right) = \mathcal{S}_{\Sigma}^{*}\left(\beta\right)$$

introduced by Brannan and Taha [3].

(iv) For  $\lambda = 1$ , we have a new class

$$\mathcal{N}_{\Sigma,m}^{\mu}\left(\beta,1\right)=\mathcal{P}_{\Sigma,m}\left(\beta,\mu\right),$$

which consists of m-fold symmetric bi-Bazilevič functions.

 $(\mathbf{v})$  For m = 1, we have the bi-univalent function class

$$\mathcal{N}_{\Sigma,1}^{\mu}\left(\beta,\lambda\right) = \mathcal{N}_{\Sigma}^{\mu}\left(\beta,\lambda\right)$$

introduced by Çağlar et al. [8].

**Theorem 15** Let the function f(z) given by (3) be in the class  $\mathcal{N}^{\mu}_{\Sigma,m}(\beta,\lambda)$ . Then

$$|a_{m+1}| \leq \begin{cases} \sqrt{\frac{4(1-\beta)}{(\mu+2m\lambda)(\mu+m)}} & , \quad 0 \leq \beta < \frac{m(\mu+2m\lambda-m\lambda^2)}{(\mu+2m\lambda)(\mu+m)} \\ \frac{2(1-\beta)}{\mu+m\lambda} & , \quad \frac{m(\mu+2m\lambda-m\lambda^2)}{(\mu+2m\lambda)(\mu+m)} \leq \beta < 1 \end{cases}$$
(26)

and

$$|a_{2m+1}| \leq \begin{cases} \min\left\{\frac{2(m+1)(1-\beta)}{(\mu+2m\lambda)(\mu+m)}, \frac{2(m+1)(1-\beta)^2}{(\mu+m\lambda)^2} + \frac{2(1-\beta)}{\mu+2m\lambda}\right\} & , \quad 0 \leq \mu < 1 \\ \frac{2(1-\beta)}{\mu+2m\lambda} & , \quad \mu \geq 1 \end{cases}$$
(27)

**Proof** It follows from (24) and (25) that

$$(1-\lambda)\left(\frac{f(z)}{z}\right)^{\mu} + \lambda f'(z)\left(\frac{f(z)}{z}\right)^{\mu-1} = \beta + (1-\beta)p(z)$$
(28)

and

$$(1-\lambda)\left(\frac{g(w)}{w}\right)^{\mu} + \lambda g'(w)\left(\frac{g(w)}{w}\right)^{\mu-1} = \beta + (1-\beta)q(w), \qquad (29)$$

where p(z) and q(w) have the forms (11) and (12), respectively. Now, equating the coefficients in (28) and (29), we have

$$(\mu + m\lambda) a_{m+1} = (1 - \beta) p_m \tag{30}$$

$$(\mu + 2m\lambda) \left[ \frac{\mu - 1}{2} a_{m+1}^2 + a_{2m+1} \right] = (1 - \beta) p_{2m}$$
(31)

$$-(\mu + m\lambda)a_{m+1} = (1 - \beta)q_m$$
(32)

$$(\mu + 2m\lambda) \left[ \left( m + \frac{\mu + 1}{2} \right) a_{m+1}^2 - a_{2m+1} \right] = (1 - \beta) q_{2m}.$$
(33)

From (30) and (32), we obtain

$$p_m = -q_m \tag{34}$$

and

$$2(\mu + m\lambda)^2 a_{m+1}^2 = (1 - \beta)^2 \left(p_m^2 + q_m^2\right).$$
(35)

Also, from (31) and (33), we have

$$(\mu + 2m\lambda)(\mu + m)a_{m+1}^2 = (1 - \beta)(p_{2m} + q_{2m}).$$
(36)

Therefore, from equalities (35) and (36) we find that

$$2|a_{m+1}|^{2} \leq \frac{(1-\beta)^{2} \left(|p_{m}|^{2} + |q_{m}|^{2}\right)}{2 \left(\mu + m\lambda\right)^{2}}$$

and

$$|a_{m+1}|^{2} \leq \frac{(1-\beta)\left(|p_{2m}| + |q_{2m}|\right)}{(\mu + 2m\lambda)\left(\mu + m\right)},$$

respectively, and applying Lemma 1, we get the desired estimate on the coefficient  $|a_{m+1}|$  as asserted in (26).

Next, in order to find the bound on the coefficient  $|a_{2m+1}|$ , by subtracting (33) from (31), we get

$$a_{2m+1} = \frac{m+1}{2}a_{m+1}^2 + \frac{(1-\beta)\left(p_{2m} - q_{2m}\right)}{2\left(\mu + 2m\lambda\right)}.$$
(37)

Upon substituting the value of  $a_{m+1}^2$  from (35) into (37), it follows that

$$a_{2m+1} = \frac{(m+1)\left(1-\beta\right)^2 \left(p_m^2 + q_m^2\right)}{4\left(\mu+m\lambda\right)^2} + \frac{(1-\beta)\left(p_{2m}-q_{2m}\right)}{2\left(\mu+2m\lambda\right)}.$$
(38)

Applying Lemma 1 for (38), we find that

$$|a_{2m+1}| \le \frac{2(m+1)(1-\beta)^2}{(\mu+m\lambda)^2} + \frac{2(1-\beta)}{(\mu+2m\lambda)}.$$
(39)

On the other hand, upon substituting the value of  $a_{m+1}^2$  from (36) into (37), it follows that

$$a_{2m+1} = \frac{1-\beta}{2(\mu+2m\lambda)(\mu+m)} \left[ (\mu+2m+1) p_{2m} + (1-\mu) q_{2m} \right].$$
(40)

Applying Lemma 1 for (40), we have

$$|a_{2m+1}| \le \frac{1-\beta}{(\mu+2m\lambda)(\mu+m)} \left[\mu+2m+1+|1-\mu|\right].$$
(41)

By investigating the bound on  $|a_{2m+1}|$  according to  $\mu$  in (41) and comparing with (39), we get the desired estimate on the coefficient  $|a_{2m+1}|$  as asserted in (27). This completes the proof of the Theorem 15.  $\Box$ 

By setting  $\mu = 1$  in Theorem 15, we obtain the following consequence.

**Corollary 16** Let the function f(z) given by (3) be in the class  $\mathcal{A}_{\Sigma,m}^{\lambda}(\beta)$ . Then

$$|a_{m+1}| \leq \begin{cases} \sqrt{\frac{4(1-\beta)}{(1+2m\lambda)(1+m)}} & , \quad 0 \leq \beta < \frac{m\left(1+2m\lambda-m\lambda^2\right)}{(1+2m\lambda)(1+m)} \\ \frac{2(1-\beta)}{1+m\lambda} & , \quad \frac{m\left(1+2m\lambda-m\lambda^2\right)}{(1+2m\lambda)(1+m)} \leq \beta < 1 \end{cases}$$

and

$$|a_{2m+1}| \le \frac{2(1-\beta)}{1+2m\lambda}.$$

**Remark 17** Corollary 16 is an improvement of the following estimates obtained by Sümer Eker [23]. **Corollary 18** (see [23]) Let the function f(z) given by (3) be in the class  $\mathcal{A}_{\Sigma,m}^{\lambda}(\beta)$ . Then

$$|a_{m+1}| \le \sqrt{\frac{4(1-\beta)}{(1+2m\lambda)(1+m)}}$$

and

$$|a_{2m+1}| \le \frac{2(m+1)(1-\beta)^2}{(1+m\lambda)^2} + \frac{2(1-\beta)}{1+2m\lambda}$$

By setting  $\mu = 1$  and  $\lambda = 1$  in Theorem 15, we obtain the following consequence.

**Corollary 19** Let the function f(z) given by (3) be in the class  $\mathcal{H}_{\Sigma,m}(\beta)$ . Then

$$|a_{m+1}| \leq \left\{ \begin{array}{cc} \sqrt{\frac{4(1-\beta)}{(1+2m)(1+m)}} &, & 0 \leq \beta < \frac{m}{1+2m} \\ \\ \frac{2(1-\beta)}{1+m} &, & \frac{m}{1+2m} \leq \beta < 1 \end{array} \right.$$

and

$$|a_{2m+1}| \le \frac{2(1-\beta)}{1+2m}.$$

**Remark 20** Corollary 19 is an improvement of the following estimates obtained by Srivastava et al. [22]. **Corollary 21** (see [22]) Let the function f(z) given by (3) be in the class  $\mathcal{H}_{\Sigma,m}(\beta)$ . Then

$$|a_{m+1}| \le \sqrt{\frac{4(1-\beta)}{(1+2m)(1+m)}}$$

and

$$|a_{2m+1}| \le \frac{2(1-\beta)^2}{1+m} + \frac{2(1-\beta)}{1+2m}$$

By setting  $\mu = 0$  and  $\lambda = 1$  in Theorem 15, we obtain the following consequence.

**Corollary 22** Let the function f(z) given by (3) be in the class  $\mathcal{N}_{\Sigma,m}^{0}(\beta,1)$ . Then

$$|a_{m+1}| \le \begin{cases} \frac{1}{m}\sqrt{2(1-\beta)} & , & 0 \le \beta < \frac{1}{2} \\ \frac{2(1-\beta)}{m} & , & \frac{1}{2} \le \beta < 1 \end{cases}$$

and

$$|a_{2m+1}| \le \begin{cases} \frac{(m+1)(1-\beta)}{m^2} & , \quad 0 \le \beta < \frac{2m+1}{2(m+1)} \\ \frac{2(m+1)(1-\beta)^2}{m^2} + \frac{1-\beta}{m} & , \quad \frac{2m+1}{2(m+1)} \le \beta < 1 \end{cases}$$

By setting  $\lambda = 1$  in Theorem 15, we obtain the following consequence.

**Corollary 23** Let the function f(z) given by (3) be in the class  $\mathcal{P}_{\Sigma,m}(\beta,\mu)$ . Then

$$|a_{m+1}| \le \begin{cases} \sqrt{\frac{4(1-\beta)}{(\mu+2m)(\mu+m)}} &, \quad 0 \le \beta < \frac{m}{\mu+2m} \\ \frac{2(1-\beta)}{\mu+m} &, \quad \frac{m}{\mu+2m} \le \beta < 1 \end{cases}$$

and

$$|a_{2m+1}| \le \begin{cases} \min\left\{\frac{2(m+1)(1-\beta)}{(\mu+2m)(\mu+m)}, \frac{2(m+1)(1-\beta)^2}{(\mu+m)^2} + \frac{2(1-\beta)}{\mu+2m}\right\} & , \quad 0 \le \mu < 1\\ \frac{2(1-\beta)}{\mu+2m} & , \quad \mu \ge 1 \end{cases}$$

By setting m = 1 in Theorem 15, we obtain the following consequence.

**Corollary 24** (see [8]) Let the function f(z) given by (3) be in the class  $\mathcal{N}^{\mu}_{\Sigma}(\beta,\lambda)$ . Then

$$|a_2| \leq \begin{cases} \sqrt{\frac{4(1-\beta)}{(\mu+2\lambda)(\mu+1)}} &, \quad 0 \leq \beta < \frac{\mu+2\lambda-\lambda^2}{(\mu+2\lambda)(\mu+1)} \\ \\ \frac{2(1-\beta)}{\mu+\lambda} &, \quad \frac{\mu+2\lambda-\lambda^2}{(\mu+2\lambda)(\mu+1)} \leq \beta < 1 \end{cases}$$

and

$$|a_3| \leq \begin{cases} \min\left\{\frac{4(1-\beta)}{(\mu+2\lambda)(\mu+1)} \ , \ \frac{4(1-\beta)^2}{(\mu+\lambda)^2} + \frac{2(1-\beta)}{\mu+2\lambda}\right\} & , \quad 0 \leq \mu < 1 \\ \\ \frac{2(1-\beta)}{\mu+2\lambda} & , \quad \mu \geq 1 \end{cases}$$

#### References

- Aouf MK, El-Ashwah RM, Abd-Eltawab AM. New subclasses of biunivalent functions involving Dziok-Srivastava operator. ISRN Math Anal 2013; 2013: 387178.
- [2] Brannan DA, Clunie JG, editors. Aspects of Contemporary Complex Analysis (Proceedings of the NATO Advanced Study Institute held at the University of Durham). Academic Press: New York, NY, USA, 1980.
- [3] Brannan DA, Taha TS. On some classes of bi-univalent functions. Studia Univ Babeş-Bolyai Math 1986; 31: 70-77.
- [4] Bulut S. Coefficient estimates for initial Taylor-Maclaurin coefficients for a subclass of analytic and bi-univalent functions defined by Al-Oboudi differential operator. Scientific World Journal 2013; 2013: 171039.
- Bulut S. Coefficient estimates for new subclasses of analytic and bi-univalent functions defined by Al-Oboudi differential operator. J Funct Spaces Appl 2013; 2013: 181932.
- [6] Bulut S. Coefficient estimates for a class of analytic and bi-univalent functions. Novi Sad J Math 2013; 43: 59-65.
- [7] Bulut S. Coefficient estimates for a new subclass of analytic and bi-univalent functions. An Ştiinţ Univ Al I Cuza Iaşi Mat (N.S.) (in press).
- [8] Çağlar M, Orhan H, Yağmur N. Coefficient bounds for new subclasses of bi-univalent functions. Filomat 2013; 27: 1165-1171.
- [9] Deniz E. Certain subclasses of bi-univalent functions satisfying subordinate conditions. J Class Anal 2013; 2: 49-60.

- [10] Deniz E, Çağlar M, Orhan H. Second Hankel determinant for bi-starlike and bi-convex functions of order β. Appl Math Comput 2015; 271: 301-307.
- [11] Duren PL. Univalent Functions. Grundlehren der Mathematischen Wissenschaften, Vol. 259. Springer: New York, NY, USA, 1983.
- [12] Frasin BA, Aouf MK. New subclasses of bi-univalent functions. Appl Math Lett 2011; 24: 1569-1573.
- [13] Goyal SP, Goswami P. Estimate for initial Maclaurin coefficients of bi-univalent functions for a class defined by fractional derivatives. J Egyptian Math Soc 2012; 20: 179-182.
- [14] Hamidi SG, Jahangiri JM. Unpredictability of the coefficients of *m*-fold symmetric bi-starlike functions. Internat J Math 2014; 25: 1450064.
- [15] Hayami T, Owa S. Coefficient bounds for bi-univalent functions. Pan Amer Math J 2012; 22: 15-26.
- [16] Lewin M. On a coefficient problem for bi-univalent functions. P Am Math Soc 1967; 18: 63-68.
- [17] Murugusundaramoorthy G, Magesh N, Prameela V. Coefficient bounds for certain subclasses of bi-univalent function. Abstr Appl Anal 2013; 2013: 573017.
- [18] Netanyahu E. The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in |z| < 1. Arch Rational Mech Anal 1969; 32: 100-112.
- [19] Porwal S, Darus M. On a new subclass of bi-univalent functions. J Egyptian Math Soc 2013; 21: 190-193.
- [20] Srivastava HM, Bulut S, Çağlar M, Yağmur N. Coefficient estimates for a general subclass of analytic and biunivalent functions. Filomat 2013; 27: 831-842.
- [21] Srivastava HM, Mishra AK, Gochhayat P. Certain subclasses of analytic and bi-univalent functions. Appl Math Lett 2010; 23: 1188-1192.
- [22] Srivastava HM, Sivasubramanian S, Sivakumar R. Initial coefficient bounds for a subclass of *m*-fold symmetric bi-univalent functions. Tbilisi Math J 2014; 7: 1-10.
- [23] Sümer Eker S. Coefficient bounds for subclasses of *m*-fold symmetric bi-univalent functions. Turkish J Math 2016; 40: 641-646.
- [24] Taha TS. Topics in univalent function theory. PhD, University of London, London, UK, 1981.
- [25] Xu QH, Gui YC, Srivastava HM. Coefficient estimates for a certain subclass of analytic and bi-univalent functions. Appl Math Lett 2012; 25: 990-994.
- [26] Xu QH, Xiao HG, Srivastava HM. A certain general subclass of analytic and bi-univalent functions and associated coefficient estimate problems. Appl Math Comput 2012; 218: 11461-11465.